- XFERXEBLESIEE - E## 02-1
XFREBLESIEE - £ 02-1 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 92 +6z2+4+2= (2) 94+9+92+ Tz =
(3) 8+4+4b+7h = (4) 443+ 3y +2y =
(5) 8+6+ 72462 = (6) 6 +8+ 9z + Tz =

2. oA s, (104 4)

(1) 5—7+5b—3b= (2) 62 —3z+6—1=
(3) 6z —4z+4—-1= (4) Tz —2x4+8—-9 =
(5) 2a —3a+6—6= (6) 4—449x -3z =

3. wowEs Liesu, (104 4)

(1) =7T4+8y+2+T7y = (2) 8z —4+Tr+4=
(3) 92+ T7—bo+1= (4) —c+3c+7+8=
(5) Tz2—2—-2—-6= (6) 3—5—22+9z=
(7) 3¢—3—5c+8 = 8) y—44+9y—-5=

(9) 1y — 12 — 17y + 1 = (10) —7z — 2+ 17z — 15 =
(11) =5z — 3z +2+2 = (12) =16 — 5c+9 + 12¢ =

(13) 2 =5z + 72z =

— 13th-note —



- XFERXEBLESIEE - E## 02-1

XFEHXE LESIEHE - &EF 02-1

1. wosms Lasue, (1m4 20

(1) 92+6z+4+2= 15z 4+ 6

(3) 8+4+4b+7= 11b 4 12

(5) 84+6+72+62= 13z + 14

2. oA s, (104 4)

(1) 5—-7+5b—3b= 2b — 2
3) 6z—4z4+44—-1= 2z + 3

(5) 2a—3a+6—-6= —a

3. wowEs Liesu, (104 4)

(1) —7+8y+2+Ty=
15y — 5

(3) 92475z +1=
—14x + 8

(5) Tz—2—2—6=
6z — 8

(7) 3¢ —3—bc+8 =
—2c+ 5

(9) 14y —12 17y +1 =
—3y — 11

(11) —pz —3z+2+2=
—8x + 4

(13) 2— 5z + 7z =
2z + 2

(2) 94+9+9z+7z= 162 4+ 18

(4) 4+3+3y+2y= DY + 7

6) 6+8+92+7x= 16x + 14

(2) 6z —3zx+6—-1= 3 + 5

(4) Te—22+8-9= dx — 1

(6) 4—4+ 9z —3z= Ox

(2) 8x—4+Tx+4=
—&I
(4) —c+3c+T7+8=

2c + 15

(6) 3—5—2:+9z =
Tz — 2

(8) y—4+9y—5=
10y — 9

(10) =7z — 24172 — 15 =
10x — 17

(12) =16 —5c+ 9+ 12¢ =
Tc — 7

— 13th-note —

)



- XFERXEBLESIEE - E# 02-2
XFERXEBLESIEHE - £/ 02-2 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 2+4+5a+8a = (2) 6 +3x+1+6=
(3) 3+3+22+2= 4 Ty+y+3+2=
(5) 9+ 1+ 3z + 6z = (6) 5+ 3+ bz + bx =

2. oA s, (104 4)

(1) 3—1+7b—5b= (2) 8a—4a+5—-9=
(3) 2c—6c+9—3 = (4) 62—32+9—4=
(5) 2c—6¢c+1—-9= (6) 7T—2+52—92=

3. wowEs Liesu, (104 4)

(1) 6+6xr—24+a= (2) 1 =Tz +5-2x =
(3) =7—8+a—8a= (4) 3+2x+1—-8zx =
(5) 6c+6c+4+9= (6) 9r+2+20+4 =
(7) 54+9+4+ 7z +8x = (8) 9-3+8x+z=
(9) 11z — 17 — 6z — 2 = (10) 15+ 4+ 10z + 142 =
(11) —12 192 — 9 — 42 = (12) 160 — 8 — 190 + 10 =

(13) 15— 19 —a+a=

— 13th-note —



- XFERXEBLESIEE - E# 02-2
XFERXEBLESIEHE - £/ 02-2 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 2+4+5a+8 = 13a + 6 (2) 6z+3z+14+6= 9 + 7
(3) 3+34+2z242= 32+ 6 4) Ty+y+3+2= 8y + 5
(5) 9+1+3z+62= 9 + 10 6) 5+3+56x+52x= 10x + 8

2. oA s, (104 4)

(1) 3—1+7-5b= 2b + 2 (2) 8a—4a+5-9= 4a — 4
3) 2c—6c+9-3= —4c + 6 (4) 62—32+9—-4= 3z + 5
(5) 2c—6c+1-9= —4c — 8 6) 7—2+52—-92= —4z + 5

3. wowEs Liesu, (104 4)

(1) 6+6xr—24+a= (2) 1 =Tz +5-2x =
Tr + 4 —9x + 6

(3) =7T—8+a—8a= (4) 34+2x+1—-8x=
—7a — 15 —6x + 4

(5) 6c+6c+4+9= (6) 9r+2+20+4 =
12¢ + 13 11z 4+ 6

(7) 54+9+4+ 7z +8x = (8) 9-3+8x+z=
15x + 14 9r — 12

(9) 11z — 17 — 6z — 2 = (10) 15+ 4+ 10z + 142 =
or — 19 24x 4+ 19

(11) —12 - 192 — 9 — 42 = (12) 160 — 8 — 19a + 10 =
—23z — 21 —3a + 2

(13) 15— 19 —a+a =
—4

— 13th-note —



- XFERXEBLESIEE - £ 02-3
XFERXELESIEHE - £7 02-3 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 8+9+7b+6b = (2) 342432492 =
(3) 224+62+3+1= (4) 8+5+4y+ 6y =
(5) da+4a+3+6= (6) 4+2+8b+8b =

2. oA s, (104 4)

(1) 8a —3a+5—-1= (2) x—2x4+6—-2=
(3) 5— 1+ 5z — 3z = (4) 7—2+9z — 9z =
(5) 9—2+3b—b= (6) 92 — 53+ 9 — 8 =

3. wowEs Liesu, (104 4)

(1) =2 —-8+4+2x—-6= (2) T4+4c+ 5+ 6c =

(3) dy —6y+5—3 = (4) by —y+4+5=

(5) =bx—2—-—z—-3= (6) =343 -2z +6x =
(7) -1-92+3 -z = (8) To —8x—1+4=

(9) 2+5— 172 — Tz = (10) 62 — 19 — 102+ 7 =
(11) z+1lz+2—12 = (12) =5 —10 — 19z — 15z =

(13) 15 — 11z — 12+ 32 =

— 13th-note —



- XFERXEBLESIEE - £ 02-3

XFEXELESI=H - £/ 02-3
1. wosms Lasue, (1m4 20

(1) 8+9+70+6b= 13b + 17
(3) 22+62+3+1= 8z + 4

(5) 4a+4a+3+6= 8a + 9

2. oA s, (104 4)

(1) 8a—3a+5—-1= da + 4
3) 5—1+4+56x—3z= 2@ + 4

(5)9-2+3b—b= 2b+ 7

3. wowEs Liesu, (104 4)

(1) —z — 842z —6=
x — 14

(3) 4y — 6y +5—3 =
—2y + 2

(5) ~5x —2—2 —3=
—b6x — 5

(7) ~1-92 43—z =
—10x + 2

(9) 245 —17¢ — Tz =
—24x + 7

(11) x4+ 11z 4+2-12 =
122 — 10

(13) 15— 11z — 12+ 3z =
—8z +3

(2) 34+2+324+92= 122 4+ 5

(4) 84+5+4y+6y= 10y + 13

(6) 4+2+8+8 = 16b + 6

2)z—204+46-2= —ax + 4

(4) T—24+92-9z2= O

6) 92 —5x+9—-8= 4 + 1

(2) 7T+4c+5+6c=
10c + 12

(4) 5y —y+4+5=
4y + 9

(6) =343 — 2z + 6z =
4x

(8) Tx —8x —1+4 =
—x+3

(10) 62 —19 — 10z + 7 =
—4z — 12

(12) =5 —10 — 19z — 15z =
—34x — 15

— 13th-note —

)



- XFERXEBLESIEE - E# 02-4
XFERXEBLESIEHE - £7 02-4 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 8z+z+2+5= (2) 1+6+5x+2x=
(3) 92+82+5+3= (4) 9z +3x+9+3 =
(5) 2 +3z+7+5= (6) 547+ 2z +4z =

2. oA s, (104 4)

(1) 2z —2x+4—-2= (2) 9r —bxr+4—-5=
(3) ba—Ta+7—-6= (4) 2—4+42zx —4x =
(5) 62— 2 +6—3 = (6) 32— Tz +2—6=

3. wowEs Liesu, (104 4)

(1) —6a+6+7a—7= (2) —2—9— 62— 8=
(3) 3x+5+6x+9 = (4) Tx+1-3z—-7=

(5) 447z +4— 62 = (6) Tb+6b—6+7=

(7) 8x—T7T—-3= (8) 2z —3x—T7T—-8=
(9) —6a — 150 — 15— 5 = (10) 14z — 182 + 11 + 20 =
(11) —16a + 8a — 11 — 20 = (12) —1—19a+ 19 + 1la =

(13) 17 — 18a — 16 + 20a =

— 13th-note —



- XFERXEBLESIEE - E# 02-4
XFERXEBLESIEHE - £7 02-4 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 8z4+z+2+5= 92+ 7 2) 1+6+5c+z= 6+ 7
(3) 92482 +5+3= 172z + 8 (4) 9z +32x4+9+3= 12 + 12
(5) x+3c+7+5= 4x + 12 6) 5+7+2:4+42= 62z 4+ 12

2. oA s, (104 4)

(1) 20 —2x+4-2= 2 (2) 9z —bz+4-5= 4 — 1
(3) sa—Ta+7—-6= —2a + 1 (4) 2—4+2z—da= —2x — 2
(5) 6z —22+6—-3= 4 + 3 6)32—Tz2+2—-6= —4z — 4

3. wowEs Liesu, (104 4)

(1) —6a+6+7a—7= (2) —x—9—6x—8=
a—1 —T7x — 17

(3) 3x +5+62+9= (4) Te+1-3z—7=
9 + 14 4xr — 6

(5) 4+ 72 +4—62= (6) Tb+6b—6+7 =
z+ 8 13b+1

(7) -8z —7—-3= (8) -2 —3z—7—8=
—8x — 10 —5x — 15

(9) —6a —15a — 15— 5 = (10) 14z — 18z + 11420 =
—21a — 20 —4x + 31

(11) —16a + 8a — 11 — 20 = (12) =1 —19a + 19+ 1la =
—8a — 31 —8a + 18

(13) 17 — 18a — 16 + 20a =
2a + 1

— 13th-note —



- XFERXEBLESIEE - E## 02-5
XFRXEBLESIEHE - £/ 02-5 ( ) ( o7 )

1. wosms Lasue, (1m4 20

(1) 845+ 4z + 3z = (2) 62482 +4+5=
(3) 2z +8x+6+2= (4) 3y+4y+5+2=
(5) Tz + 62 +9+6= (6) 7+7+3z+ 3w =

2. oA s, (104 4)

(1) y=5y+9—-8= (2) 3—5+a—ba=
(3) 9—-6+5y—y= (4) 5—6+62—T7z=
(5) 9—5+ 8z — 3z = (6) 32— Tz +8—8=

3. wowEs Liesu, (104 4)

(1) —x+z+3+5= (2) =6 —4c+3—-9c=
(3) 2zx+2x+1—-4= (4) 9—5—-3zx —8x =

(5) =T4+5—z+2x= (6) —Ta —ba—2=

(7) 2y +44+3 = (8) 8—8+a+a=

(9) =6 — 140 — 19 — 3z = (10) =8z — 12+ 14z + 13 =
(11) 2 -18 — 6z — 12z = (12) =152 —18+4+32+3 =

(13) 12z + 15+ 42 — 10 =

— 13th-note —



- XFERXEBLESIEE - E## 02-5

XFEFXELESI=E - £/ 02-5
1. wosms Lasue, (1m4 20

(1) 8+5+4x+3z= T + 13
(3) 20 +8x+6+2= 10 4+ 8

(5) Te+6z+9+6= 13 + 15

2. oA s, (104 4)

(1) y-5y+9-8= —4y + 1
3)9-6+5y—y= 4y + 3

(5)9—-5+8z—3z= dx + 4

3. wowEs Liesu, (104 4)

(1) —x+z+3+5=

8

(3) 2z+2x+1—-4=
—3

(5) —T+5—x+2z=
xr — 2

(7) 2y+4+3=
2y + 7

(9) —6 — 142 — 19 — 3z =
—17x — 25

(11) 2 — 18 — 6z — 12z =
—18x — 16

(13) 122 + 15 + 42 — 10 =
162 + 5

(2) 62+82+4+5= 14z 4+ 9

(4) 3y+4y+5+2= Ty + 7

6) 7T+7+3z+3z= 6 + 14

2) 3—-5+a—ba= —4a — 2
(4)5-6+62—72= —z — 1
6) 3z—Tz+8—8= —4z

(2) =6 —4c+3—-9c=

(4) 9—5—3x — 8z =

—13¢c — 3

—11x + 4

(6) —Ta —ba—2=

—12a — 2

(8) 8—8+a+a=

2a

(10) =8z — 12+ 14z + 13 =

6x +1

(12) =152 —18+3z+3 =

— 13th-note —

—12z — 15

)



